= %50 g | FEREIR FRER | B | FRED | FRES A& | #E | B | %8 ®E
! BT SET
. (BBZ&-VMER)- -

1-1 {573 i) () ' 2800.0 2a izl 6.00
1-2  |#EF4eE EE Tikkurila-H499 500*500 g 74.83
1-3 |83kl W@ KR 500*500 RN 0.19
1-4  |\JEFRE| TmE EELNEE . 1000%1000 RS 0.29
1-5 &hE e 5. KUJIALE-E%E 600*1200 B 63.00
2 FE SEINT

2-1 AR ME | SPC1234 ghhi8EE - 1520*228 K 16.46
22 B g | WS VMES)- 2800.0 ®meE 1R 5.00

(BfE)

2-3  |HEEF/isE  TRE EELER . 1000*1000 ek 0.14
2-4  |EEFAE TRE KRR 500*500 RN 0.07




2-5 |HEFiRE E@E Tikkurila-Y484 500*500 RS 41.70
3 IREM VT
3-1 AR #E | SPC1234 prhiBgE 1520*228 K| 1247
3-2 o g | B VMERE)- 2800.0 ®meE 1R 6.00
(EE)
3-3  |HEEARE  TRE BRI 500*500 K 0.07
3.4 |#EFsaR|  EE Tikkurila-Y484 500*500 Tk | 3641
3-5  |#EFARE  TE EELEE . 1000*1000 K 0.13
4 JRER VMt
4-1 AR #E | SPC1234 prhiBgE . 1520*228 e 11.56
4-2 g g | GHEVMRE)- 2800.0 ®me e} 4.00
(Bf)
_ . (BESSHR-(E BEge
4-3 7 TRE et 3000.0 o 18 4.00




4-4  |EEAEH BE Tikkurila-N493 500*500 RS 35.83
> iz SavNt
327-ss33 faj/R *
5-1 R TRE e 327*327 A 75.00
5-2 &R #E | &FE-JDM715012S JDM715012S 1500%750 =3 8.00
5-3 &R #&E | &Ft-JDM715012S JDM715012S 1500%750 )= 34.00
6 BAE ESEUINT
327-ss33 Fal/R "
6-1 4R TRE o 327*327 J=3 63.00
‘ SR : .
6-2 &R i 1SR805016F 800%800 =3 57.00
N EECETAR *
6-3 & o 1SRB05016F 800%800 J=3 11.00
7 ) Sait
. (SGX-ZB0001)-(&5 i Beas
- =4 \
7-1 R TE g ! 2000017456| 2000017456 3000.0 P 1R 4.00
7-2 e 1T (ﬁmf%g%@' ' E E 2800.0 o 1R 4.00




. (BEKRESHMR)-(B E2Ege
- 52 ~
7-3 s TRE PO 3000.0 b i) 4.00
7-4 | E@E Tikkurila-H499 500*500 RS 8.87
7-5 &Fe #E | 5.KUJIALE-E7EE 600*1200 =3 9.00
8 B4E VT
i 327-ss33 faj/R *
8-1 R TE S5 327*327 = 41,00
. EECETAR X
8-2 BhE 1 1SR805016F 800*800 B 48.00
; LR .
8-3 &He 1T 1SRB05016F 800*800 B 6.00
. EECETAR X
8-4 Bt T 1SR805016F 800*800 =3 9.00
9 [ SET
9-1 g g | GHEVMRE)- 2800.0 ®me e} 2.00
(Bf)
9-2 |iEmase| @ Tikkurila-H499 500*500 o 13.07




9-3 &he #E | 5.KUJIALE-E7EE 600*1200 B 6.00
10 K SRVt

10-1 AR HE AR - 924*150 K 0.15
11 K SEUNT

11-1 bR HbTE bR - 924*150 K 0.15
12 K SRVt

12-1 AR HE AR - 924*150 K 0.09
13 K SEUNT

13-1 bR HbTE bR - 924*150 P 0.02

EEREMEI




MElmsS R4 (EFEA | MEIEE | Mk P AR o phs
X0806030101 RN TAERR E 0.00 2F 97
X0602030101 IREILIERZ 50hEE 0 274.72 D50
X0807010301 &R 3~ AAEIRER i 3.76 3%
X0104070101 AR # 5.21 4KG
X0601020101 IR RN B 50 B ¥ 412.08 50*19*0.5mm
X0113010101 BRIEMTS T 5 1.51 1*45m
X0113030101 IR AR AR S 8 0.69 5.2cm*75m
X0703060701 INE B RRIZ22M8*80 & 20.60 gms*s:)ggm*so
X06020801071 IRE Rz 0 137.36 D50
X0803030301 SRR ] i 0.75 3%
X0304010101 REFEORIZARHEARTIR 5 11.53 2440%1220*18
X0602010101 IREMERZ 50K 0 68.68 D50




X0703020101 FHAF305E06E] & 0.00 F30(50004N)
X0805020101 (AEFTERDREE 0 0.00

X0703030201 SRS EEETM3.5%25mm a 11.05 M3.5*25mm 5004
X0703080601 (At R EE i kIR =3 103.02 M8*100 2%
X0807020401 RN T4 EER| i 0.16 At
X0806020101 RN T KImRE E 0.75 FE 997
X0109010101 T RERER TR T ) 15.07 20KG
X0602060101 IRFMER ST ™ 1098.88 D50
X0803040101 R iB 0.00 =]
X0802010201 IRAKEB RS SL I R ITN 52 1.37 8*150mm
X0112020101 ROAEERIEE 2 2.06 18KG
X0206010101 BRxRZEKEHEEBIEER i 0.00 1L
X0102010201 rETmE e 2 216.43 15KG
X0703090101 REE R T LAT *K 13.74 M8*1m 2iR




X0601030101 IR RN B 2010 5 K 41.21 20*30*0.5mm
X0703100101 (BRI SR % 34.34 M8*50 5&
X0507010401 6mmBELIE = 0.00 6mmi’?£§f|\'5 75
X0501040101 J\BITLE ™ 15.00 75*75*50
X0801030101 REERETIE A B 2.20 3SERRE
X0405010201 PVCERERIR LI dN20 0 0.15 dn20 50m
X0601010101 IR AR N B 50 I 5 K 82.42 50*15*1.2mm
X0406010201 PVCEREIRMEHIEIN20 0 15.00 dn20
X0808010101 AR SELURES 5 0.32 10mm*50m
X0805010301 E+rb4K280H 5, 0.00 2808 103K
X0602070101 TRE R 501 0 34.34 D50
X0807020301 RN T3 EERI i 0.16 35
X08060203071 SR EEHT T KITRRE E 0.16 FE 47




X0101010101 Y848 pc32.57Ki8 2 18.92 50KG
X0302010101 AfiitEREaER 3K 33.87 1200*2400*9.5mm
X0703110101 (B304 R MIE R 2% 41.21 M8 5
X01090201071 M REIRRF 2 6.78 20KG
X0807020501 RN TSI EER i 0.16 55
X0104050101 ZREREE 1 0.75 18KG
X0104010101 BEIMRETCRESE R AR 1 3.52 18KG
X0806030101 RN TAERRD E 0.00 SE o9
X0602030101 IR 50hiE 0 90.68 D50
X0807010301 TERH3 AR ER i 2.09 3%
X0104070101 REIMERR & 2.74 4KG
X0601020101 IR RN B 50 B K 136.02 50*19*0.5mm
X0113010101 BRGHIEAR 5 0.83 1*45m
X0113030101 L AR R 2! 0.23 5.2cm*75m




BEM8*80+5TM5*80

X0703060701 INE B PRIZ22M8*80 = 6.80 e
X0602080101 IR R 0 45.34 D50
X0803030301 SRR ] i 0.42 3
X0304010101 REFEORIZAHAR TR 5K 2.75 2440%1220*18
X0602010101 IFEEF 50K A ™ 22.67 D50
X0703020101 FHAF305E06E] & 0.00 F30(50004N)
X0805020101 (AEFTERDREE 0 0.00

X0703030201 SRS EEETM3.5%25mm a 3.32 M3.5*25mm 500#
X0703080601 (BImtFER R s ARt = 34.01 M8*100 2%
X0807020401 RN T4 EER| i 0.14 At
X0806020101 RN T KImRE E 0.42 FE 997
X0109010101 UM RERER TR T ) 8.38 20KG
X0602060101 IREIMER 4T 0 362.72 D50




X0802010201 IRBREB EEEL IR ITL, 53 0.45 8*150mm
X0112020101 AR ERGES ) 0.68 18KG
X0206010101 BxRZ EKEEEERBIEER 1 0.00 1L
X0703090101 IR R 24T S 453 M8*1m 21R
X0601030101 IR RN S 2010 S S 13.60 20*30*0.5mm
X0703100101 (BRI AAINI N SRt % 11.34 M8*50 5&
X0507010401 6mmBIEELIE & 0.00 6mm§?£§/zl\'5 75
X0501040101 JAV=EV A S 0 4.00 75*75*50
X0405010201 PVCERELIRESIEdN20 0 0.04 dn20 50m
X0601010101 e RN e 50 e S 27.20 50*15*1.2mm
X0406010201 PVCELREHEFdn20 AN 4.00 dn20
X0808010101 FHZIRELERIR S % 0.27 10mm*50m
X0805010301 E+HE280H ) 0.00 2808 103K




X0602070101 IREIMERZ 50 0 11.34 D50
X0807020301 REREHT3TEER i 0.14 3%
X0806020301 SRR T KIMRE =3 0.14 FE 4
X0302010101 AIfiEAE AR 5 10.03 1200*2400*9.5mm
X0703110101 A3 04 EBNIE R 2% 13.60 M8 5
X0109020101 MR EIIRR T 2 3.76 20KG
X0807020501 REREH TS EER i 0.14 55
X0104050101 2R 1 0.42 18KG
X0806030101 RN THEERE E 0.00 SE o9
X0602030101 IR 505hiE 0 71.76 D50
X0807010301 &R 3~ AAEIRER i 1.83 3%
X0104070101 REIEEIRR 1# 2.37 4KG
X0601020101 IR RN B 50 B ¥ 107.64 50*19*0.5mm
X0113010101 ARIEMITS T 5 0.73 1*45m




X0113030101 IR A R RS 2 0.18 5.2cm*75m
X0703060701 INE B RRIZ22M8*80 & 5.38 %MS*nggMS*SO
X0602080101 Irgf kR El = 0 35.88 D50
X0803030301 SRR T] i 0.36 3%
X0304010101 REFEORIZAHARTIR 5K 2.25 2440%1220*18
X0602010101 IREMERZ 50K 7 0 17.94 D50
X0703020101 FHAF305E06E] & 0.00 F30(5000%N)
X0805020101 (SEsEA)-=3l s 0 0.00

X0703030201 SRS EEETM3.5%25mm a 2.66 M3.5*25mm 500#
X0703080601 (Al R S K IZ A 2% 26.91 M8*100 2%
X0807020401 REREN T4 EER i 0.14 AF
X0806020101 RN T2 KImRE E 0.36 FE 997
X0109010101 UM RERERTRF 2 7.32 20KG




X0602060101 IR MERZSTHE 0 287.04 D50
X0802010201 IRBREB SRR IR, 53 0.36 8*150mm
X0112020101 RLEAERES 2 0.54 18KG
X0206010101 BxRzZ EKEEEERIEER 1 0.00 1L
X0703090101 IR 24T S 3.59 M8*1m 2iR
X0601030101 IR RN B 2010 5 K 10.76 20*30*0.5mm
X0703100101 EIREASBININ SAigE o 8.97 M8*50 5&
X0507010401 6mmBELIE = 0.00 6mmi’?£§f|\'5 75
X0501040101 J\BITLE ™ 4.00 75*75*50
X0405010201 PVCER&IRLEdN20 0 0.04 dn20 50m
X0601010101 IR RN B 50 S K 21.53 50*15*1.2mm
X0406010201 PVCEELRSEREFdN20 AN 4.00 dn20
X0808010101 ES VAV S A G 5 0.27 10mm*50m




X0805010301 E+r4K2808 ) 0.00 2808 103K
X0602070101 IR 5031 AN 8.97 D50
X0807020301 RN T3 EER ie 0.14 39
X08060203071 SeEEHT T KITRRE E 0.14 FE 45
X0302010101 eI AR 5K 8.02 1200*2400*9.5mm
X0703110101 (EERIE304 R IR £ 10.76 M8 5
X0109020101 MM REARE T ) 3.28 20KG
X0807020501 RN TSI EER e 0.14 5<F
X0104050101 HEEE # 0.36 18KG
X0806030101 RN TAERRD E 0.00 5E 99
X0602030101 TRERRZ 505hiE 0 72.32 D50
X0807010301 BRI 3 AR ER i 1.79 35
X0104070101 Ry =N 1 2.33 4KG
X0601020101 YRS S0h R E ¥ 108.48 50*19*0.5mm




X0113010101 RRIEMTS T 5 0.72 1*45m
X0113030101 EE g e ) 0.18 5.2cm*75m
X0703060701 INE R KIBLME*80 £ 5.42 %MS*nggMS*SO
X0602080101 Irg kR El = 0 36.16 D50
X0803030301 BRI i 0.36 35
X0304010101 REREOFALAMA TR 3K 2.33 2440%1220*18
X0602010101 B 50 AR A 18.08 D50
X0703020101 FHRF30SE0ET a 0.00 F30(50001)
X0805020101 (EEszap=i e A 0.00

X0703030201 | S4REETFEEETM3.5*25mm & 2.69 M3.5*25mm 5004
X0703080601 (EERAS R KIS % 27.12 M8*100 235
X0807020401 SRR TATEER i 0.22 4
X0806020101 RN T KRIMER E 0.36 FE 97




X0109010101 M RERER TR T 2 717 20KG
X0602060101 IR MRS STHE 0 289.28 D50
X0802010201 IRBRER AL LT IR, 52 0.36 8*150mm
X0112020101 FLAEERES 2 0.54 18KG
X0206010101 BRZE2KEREEELFER 1 0.00 1L
X0703090101 R ETE R T 24T ¥ N 3.62 M8*1m 2iR
X0601030101 IR RN e 2018 % 10.85 20*30*0.5mm
X0703100101 (BTSRRI N SRRk £ 9.04 M8*50 5F&
X0507010401 6mmB I ELIE 2 0.00 6mmi’?£§f|\'5 ¥
X0501040101 I\BITLE 0 6.00 75*75*50
X0405010201 PVCERELIR L dN20 0 0.06 dn20 50m
X0601010101 IR RN a8 50 E % 21.70 50*15*1.2mm
X0406010201 PVCEFERMEHIEIN20 0 6.00 dn20




X0808010101 e VAV S A 5 0.43 10mm*50m
X0805010301 E+HE280H ) 0.00 2808 103k
X0602070101 IREIMERZ 5042 ™ 9.04 D50
X0807020301 RN T3 EER i 0.22 3%
X0806020301 RN T KmRE E 0.22 FE 47
X0302010101 B E AR 3K 8.15 1200*2400*9.5mm
X0106040101 B R bR AL 8 0.11 2KG
X0703110101 (B304 R B MIER 2% 10.85 M8 5
X01090201071 M REIRRF 2 3.22 20KG
X0807020501 RN TSI EER i 0.22 55
X0104050101 ZREREE 1 0.36 18KG
X0602030101 TREIRRZ 505hiE 0 30.08 D50
X0807010301 BRI 3 AR ER i 0.29 3%
X0104070101 =l 1 0.08 4KG




X0601020101 IR RN B 50 i & * 36.10 50*19*0.5mm
0408010101 m&zﬂ%%wg%ﬁzﬂ;@?&iﬁﬂk - 500 30em
X0806010101 RN THRAKERS E 0.11 KE 97
X08040102071 EREEN+F2R1.5mm 2 0.59 1.5mm 500%]
X0113030101 TR AR 2 0.08 5.2cm*75m
X0703060701 INEE B RIR 22 MB*80 % 2.26 %M8*8$(;’§M5*80
X0602080101 IR R AN 15.04 D50
X0601010201 IR AN 38 E B 1R 9.02 38*12*1.0mm
X0602010101 IREERZ 50K M ™ 7.52 D50
X0703030201 SR TEEETM3.5%25mm a 0.90 M3.5*25mm 5004
X0602020101 381 N 15.04 D38
X0703080601 (B Rt IKIZAE % 15.04 M8*100 237
X0104030101 ER RS RNE D 1 0.29 20KG




X0106010201 ESI LI Rh SR 2 7.34 20KG
X0602100101 =fakaiEk 0 3.01

X0601040101 B=AEKE K 22.56 2.5*2.5*0.3mm
X0602060101 IR IR AT AN 75.20 D50
X0803040101 REEERiRT] ig 0.00 =1
X0802010201 IRPXEB R SL T AR YL 53 0.30 8*150mm
X0407020101 | EEBNEHvK=FIR$E100982 AN 1.00 Pk iR
X0112020101 RLAERES 2 0.23 18KG
X0206010101 BxRzZ EKEEEERIEER 1 0.00 1L
X0102010201 FETmrPRE D = 37.00 15KG
X0703090101 R E TR T 24T ¥ N 3.00 M8*1m 2iR
X0601030101 IR RN e 2018 % 4.51 20*30*0.5mm
X0413020101 [BIE453 WA LLA<AREK ] ™ 1.00 453 WAL
X0703100101 (BT ARINI N SRRk £ 7.52 M8*50 5F&




X0808060101 RIS SEEK RS 5 0.03 30
X0802010301 IRPYEB S SL T AR YL 53 0.10 10*150mm
X0411010101 TR 7K AR T L i ™ 1.00 150-180
X0807010401 TERHA T AARIRER i 0.56 4F
X0801030101 R AR IE A = 1.85 3SEREIE
X0601010101 IR RN B 50 B S 9.02 50*15*1.2mm
X0107010101 EE K1 THEKIRE 1# 1.79 18.2KG
X0602070101 IFEEFZ50EH: ™ 3.76 D50
X0602090101 =RkEER ™ 22.56

X0101010101 #E92pc32.57Ki8 g 3.23 50KG
X0302010101 AfiitEREaER 3K 3.16 1200*2400*9.5mm
X0703110101 (B304 EEENIRE o 9.02 M8 5%
X0413010101 ﬁﬁ%’t%%o‘i;iﬁ%%’%ﬁ& 1R 1.00 O +#EO 50cm
X0410010201 Emﬂﬁ%"kﬁﬁﬁtﬁmg 1R 1.00 dn160mm 2mi

160mm




X0104010101 BEMRETCRESE R AR 1 0.60 18KG
X0407010101 | EENNE47K=FI®4E100982 0 1.00 SIKFaIE
X0802010401 IRBRER AL LT IR, 52 0.05 12*150mm
X0602030101 IRE VMR 50ehiE 0 27.04 D50
X0807010301 TERH3 AR ER i 0.30 3%
X0104070101 e =N 1 0.07 4KG
X0601020101 IR MR AR N B 50 e B S 40.56 50*19*0.5mm
X0806010101 RN THRAKERS E 0.28 KE 97
X08040102071 EREEN+F2R1.5mm 2 0.61 1.5mm 500%;
X0113030101 TR AR RS 2 0.07 5.2cm*75m
X0703060701 INE R BKIZL2MB*80 % 2.03 %MS*nggMS*SO
X0302020101 B tERm B a E1R 3K 2.84 1200*2400%9.5mm
X06020801071 IR MR R i 13.52 D50




X0304010101 REFEORIZAHAR TR 5 0.68 2440*1220*18
X0601010201 IR RN e 38 E i 7.69 38*12*1.0mm
X0602010101 IR 50K A ™ 6.76 D50
X0703030201 SRS EEETM3.5%25mm a 0.95 M3.5*25mm 500#
X0602020101 38R 0 12.82 D38
X0703080601 (Ot Rt K2 % 13.35 M8*100 237
X0104030101 ERRITEE BN E D 18 0.30 20KG
X0106010201 XG5 di il 2 7.60 20KG
X0602100101 =fRarEk 0 2.56

X0601040101 B=AKE K 19.23 2.5*2.5*0.3mm
X0602060101 IREIER T 0 108.16 D50
X0803040101 BRI ig 0.00 xE
X0802010201 IRAGEE S ST RO 52 0.27 8*150mm
X0112020101 FLEAEERES 2 0.20 18KG




X0206010101 FRxRZEKEHEEBIEER i 0.14 1L
X0104110101 BEEAHSESR (B8) 53 0.10 300ml
X0102010201 rETmE e 2 22.71 15KG
X0703090101 REIE R T AT *K 2.63 M8*1m 2iR
X0601030101 IR N B 20105 S 4.06 20*30*0.5mm
0408010301 n#&xﬁﬁiwﬁ%ﬁéﬂ;’émﬁmﬁ - 1.00 50cm

=)
X0703100101 EIREASBININ SAigE o 6.59 M8*50 5&
X0802010301 IRAKEE S ST RO 52 0.10 10*150mm
X0808060101 BUEEEKER 5 0.05 30
X0807010401 TERHA T AARIRER i 1.39 At
X0801030101 R ERIE A 53 1.52 3EEREIE
X0601010101 IR RN a8 50 E % 8.11 50*15*1.2mm
X0107010101 K11 ZEERpKRE 1 4.46 18.2KG
X0602070101 IREIMRRZ 5042 ™ 3.38 D50




X0602090101 =AkeER 0 19.23
X0101010101 Y848 pc32.57Ki8 ) 1.66 50KG
X0703110101 (B304 R MIE R 2% 7.91 M8 5
X0104110201 |ERBEIZAREZIR (FiEH) 52 0.66 300ml
X0412010101 i*é7kﬂﬁﬁ£@%§i£é%§$$%ﬂﬁﬂ§ N 1.00

&
X0407010101 | EERINER7K=FIR$E100982 AN 1.00 7N
X0807010301 &R 3~ AAEIRER i 0.44 3%
X0601020101 IR RN B 50 B ¥ 55.14 50*19*0.5mm
X0113010101 ARIEMITSTE 5 0.18 1*45m
X0806010101 RN TRAKERE E 0.09 KE 97
X0304010101 REFEORIZAHAR TR 5 0.92 2440*1220*18
X0602010101 NS NG 0 9.19 D50
X0703020101 FHAF305E06E] a 0.00 F30(50004)
X0805020101 (SEsEA)-=3l s 0 0.00




X0703030201 ZLLIRBHETEEETM3.5*25mm A 1.29 M3.5*25mm 5004
X0703080601 (BRI FE R AKIZAE £ 13.79 M8*100 237
X0807020401 RN T4 EER| i 0.28 At
X0806020101 SRR T KIMRE E 0.09 FE 997
X0602060101 IREMRRIE 0 147.04 D50
X0803040101 R ig 0.00 xE
X0802010201 IRPYEB S SL T AR YA 53 0.18 8*150mm
X0206010101 BxRzZ EKEEEERIEER 1 0.00 1L
X0601030101 IR RN B 20105 *K 5.51 20*30*0.5mm
X0807010401 TERHA T AARIRER i 0.47 At
X0801030101 R ERIE A 53 0.29 3EEREIE
X0601010101 IR RN a8 50 E % 11.03 50*15*1.2mm
X0808010101 PR % 0.58 10mm*50m
X0107010101 K11 ZERKRR 1 1.49 18.2KG




X0805010301 E+r4K2808 ) 0.00 2808 103K
X0806020301 RN T KImRE E 0.28 FE 495
X0703110101 (EERIE 304N MBS 2% 5.51 M8 5%
X01090201071 M REIRRF 2 0.80 20KG
X0807020501 SRR TS EER i 0.28 55
X0104010101 BEMRETCRESE R AR 1 0.47 18KG
X0806030101 RN TAERE = 0.00 SF 9
X0602030101 IRE MRS 50hiE 0 36.76 D50
X0104070101 =l 1 0.62 4KG
X0113030101 TR AR RS 2 0.09 5.2cm*75m
X0703060701 INE R BKIZL2MB*80 % 2.76 %MS*nggMS*SO
X0602080101 IR R BE N 18.38 D50
X0803030301 Sl ie 0.09 3




X0109010101 M RERER TR T 2 1.77 20KG
X0112020101 ROAERIEE ) 0.28 18KG
X0102010201 rETmE e 2 28.79 15KG
X0703090101 IR R 24T *K 1.84 M8*1m 2iR
X0703100101 [EE RN Av=: L e 2% 4.59 M8*50 5&
X0507010401 6mmBEELIE & 0.00 6mm§?£§f|\'5 ¥
X0501040101 I\BITE 0 3.00 75*75*50
X0405010201 PVCERZIRL(EdN20 0 0.03 dn20 50m
X0406010201 PVCELLRSEBEFdn20 0 3.00 dn20
X0602070101 IREIMRRZ 5042 ™ 4.59 D50
X0807020301 REREH T3 EER i 0.28 3%
X0101010101 Y848 pc32.57Ki8 ) 2.5 50KG
X0302010101 AIfitEAE AR 3K 3.86 1200*2400*9.5mm




X0106040101 B R aR R 8 0.20 2KG
X0104050101 ZREEE 1 0.09 18KG
X0802010401 IRBRER AL LT IR, 52 0.05 12*150mm
X0602030101 IRE VMR 50ehiE 0 18.88 D50
X0807010301 TERH3 AR ER i 0.22 3%
X0104070101 REIMERR 1 0.05 4KG
X0601020101 IR MR AR N B 50 e B S 28.32 50*19*0.5mm
X0806010101 RN THRAKERS E 0.22 KE 97
X08040102071 EREEN+F2R1.5mm 2 0.42 1.5mm 500%;
X0113030101 TR AR RS 2 0.05 5.2cm*75m
X0703060701 INE R BKIZL2MB*80 % 142 %MS*nggMS*SO
X0302020101 B tERm B a E1R 3K 1.98 1200*2400%9.5mm
X0602080101 IRE KR ERE ™ 9.44 D50




X0304010101 REFEORIZAHAR TR 5 0.47 2440*1220*18
X0601010201 IR RN e 38 E i 5.04 38*12*1.0mm
X0602010101 IR 50K A 0 4.72 D50
X0703030201 SRS EEETM3.5%25mm a 0.66 M3.5*25mm 500#
X0602020101 38R 0 8.40 D38
X0703080601 (Ot Rt K2 % 9.18 M8*100 237
X0104030101 ERRITEE BN E D 18 0.22 20KG
X0106010201 XG5 di il 2 5.36 20KG
X0602100101 =fRarEk 0 1.68

X0601040101 B=AKE K 12.60 2.5*2.5*0.3mm
X0602060101 IREIER T 0 75.52 D50
X0803040101 BRI ig 0.00 xE
X0802010201 IRAGEE S ST RO 52 0.17 8*150mm
X0112020101 FLEAEERES 2 0.14 18KG




X0206010101 FRxRZEKEHEEBIEER i 0.09 1L
X0104110101 BEEAHSESR (B8) 53 0.10 300ml
X0102010201 rETmE e 2 15.39 15KG
X0703090101 REIE R T AT *K 1.78 M8*1m 2iR
X0601030101 IR N B 20105 S 2.83 20*30*0.5mm
0408010301 n#&xﬁﬁiwﬁ%ﬁéﬂ;’émﬁmﬁ - 1.00 50cm

=)
X0703100101 ERSAEININ AR £ 4.46 M8*50 5&
X0802010301 IRAKEE S ST RO 52 0.10 10*150mm
X0808060101 BUEEEKER 5 0.05 30
X0807010401 TERHA T AARIRER i 1.09 At
X0801030101 R ERIE A 53 1.08 3EEREIE
X0601010101 IR RN a8 50 E % 5.66 50*15*1.2mm
X0107010101 K11 ZEERpKRE 1 3.48 18.2KG
X0602070101 IREIMRRZ 5042 ™ 2.36 D50




X0602090101 =AkeER 0 12.60
X0101010101 Y848 pc32.57Ki8 ) 1.13 50KG
X0703110101 [EF 304 EENIE R £ 5.35 M8 5
X0104110201 |ERBEIZAREZIR (FiEH) 52 0.66 300ml
X0412010101 i*é7kﬂﬁﬁ£@%§i£é%§$$%ﬂﬁﬂ§ N 1.00

&
X0407010101 | EERINER7K=FIR$E100982 AN 1.00 7N
X0806030101 RN TAERR E 0.00 SE o9
X0602030101 IR 505hiE 0 24.36 D50
X0807010301 &R 3 AARIRER i 0.65 3%
X0104070101 BENEEIR 1 0.84 4KG
X0601020101 IR RN B 50 B kK 36.54 50*19*0.5mm
X0113010101 BRZHMIER 5 0.26 1*45m
X0806010101 RN TRAKERE =3 0.06 KE 99
X0113030101 L AR R 2! 0.06 5.2cm*75m




BEM8*80+5TM5*80

X0703060701 INE B PRIZ22M8*80 = 1.83 e
X0602080101 IR R 0 12.18 D50
X0803030301 SRR ] i 0.13 3%
X0304010101 REFEORIZAHAR TR 5K 0.61 2440%1220*18
X0602010101 IFEEF 50K A ™ 6.09 D50
X0703020101 FHAF305E06E] & 0.00 F30(50004N)
X0805020101 (AEFTERDREE 0 0.00

X0703030201 SRS EEETM3.5%25mm a 0.86 M3.5*25mm 500#
X0703080601 (At R EE i kIR =3 9.13 M8*100 2%
X0807020401 RN T4 EER| i 0.04 At
X0806020101 RN T KImRE E 0.13 FE 997
X0109010101 UM RERER TR T ) 2.6 20KG
X0602060101 IREIMER 4T 0 97.44 D50




X0803040101 BRI ig 0.00 KE
X0802010201 IRPYEB S SL T AR YL 53 0.12 8*150mm
X0112020101 RLEAERES 2 0.18 18KG
X0206010101 BxRzZ EKEEEERIEER 1 0.00 1L
X0102010201 i et = = 18.60 15KG
X0703090101 R ETE R T 24T ¥ N 1.22 M8*1m 2iR
X0601030101 IR RN e 2018 % 3.65 20*30*0.5mm
X0703100101 (BTSRRI N SRRk £ 3.04 M8*50 5F&
X0507010401 6mmB I ELIE 2 0.00 6mmi’?£§f|\'5 ¥
X0501040101 J\BITkE ™ 2.00 75*75*50
X0807010401 BRI~ AR ER ig 0.31 A4~F
X0801030101 R ERTIE A 5y 0.19 E&RETIE
X0405010201 PVCERZIRL(EdN20 0 0.02 dn20 50m




X0601010101 IR RN B 50 S * 7.31 50*15*1.2mm
X0406010201 PVCEELRSEREFdN20 AN 2.00 dn20
X0808010101 ES VAV S A G 5 0.07 10mm*50m
X0107010101 EEK1 R RKRE 1 1.00 18.2KG
X0805010301 E+HE280H ) 0.00 2808 103K
X0602070101 IR 501 N 3.04 D50
X0807020301 RN T3 EERI i 0.04 35
X0806020301 SR EEHT T KIMRRE E 0.04 FE 47
X0101010101 YE48pc32.5/KR g 1.62 50KG
X0302010101 AR E AR 5K 2.56 1200*2400*9.5mm
X0703110101 (B304 RSB NIRRT £ 3.65 M8 53
X0109020101 MM REARE T ) 1.17 20KG
X0807020501 RN TSI EER ie 0.04 5<F
X0104050101 HEEE # 0.13 18KG




X0104010101 BESIMRB TR ES RN AR 1 0.30 18KG
BRAND ESSENCEAMBSERIFS
X0205010101 \ 0.00 25KG
B 1
sy d— N =gl g
0811030101 | BEX<ECRIDHMREEISER oo 0.15 3mmiSEE BEETK
IFEE3mm
X0807010201 B2~ ARABIETER = 0.00 2
X0802010201 IRBKEE SRS ST AR PO 2 0.00 8*150mm
X0301020101 ST S iz 0.11 2.8%4.8*4m
X0703050101 EETMEE.59 = 0.01 1.55F40mm 300%
X0703070201 EOAZEREET % 0.23 M8*80 104
BRAND ESSENCEA# SRS
X0205010101 \ 0.00 25KG
B i
oo AR
0811030101 | PREWRIMMRELSBELR | oo 0.15 3mmEEEE BEETK
IFEE3mm
X0807010201 B2~ ARARIETERI = 0.00 2t
X0802010201 IRRRER B SL S RO 53 0.00 8*150mm




X0301020101 BRI R 0.11 2.8%4.8*4m
X0703050101 EEIFAEE]1.5Y a 0.01 1.55740mm 300%¢
X0703070201 EDAZERELST 45 0.23 M8*80 104
BRAND ESSENCEA# SRS

X0205010101 : 8 0.00 25KG

== {asgiil

== A AEAE(&

0811030101 E%z_&iitﬂwl?ffﬁﬂﬂaﬁ,ﬂﬂﬁ{% Tk 0.09 SmmSEEE B K

IFEE3mm
X0807010201 B2 AR TER B 0.00 2<F
X0802010201 IRPRFB SRS F #RPUL 53 0.00 8*150mm
X0301020101 SR 2415 R 0.07 2.8%4.8*4m
X0703050101 (EERIEE] 1.5 a 0.00 1.55740mm  300#¢
X0703070201 e OASEREET £ 0.14 M8*80 104

==y |

X0205010101 BRAND ESSENCEABLEHI i 0.00 25KG

HREHEHF




[EERZ ERp RIS HE R

X0811030101 o sk 0.02 3mmBRRE BBEE1K
IFEE3mm

X0807010201 B2 T AIEIRTER B 0.00 2<F

X0802010201 RAKEREELSL T fRPUL, % 0.00 8*150mm

X0301020101 SR 24 5 R 0.01 2.8%4.8*4m

X0703050101 EEIMAEE] .59 a 0.00 1.55740mm  300#Z

X0703070201 E{HAEREET & 0.03 M8*80 104

X0810030101 BEFEORREL 0 0.00

X0810020101 Rl XSEBRIKE ™ 0.00 300L 87*63*68cm

X0810010101 HEhKieiE N 0.00

X0810040101 BREIR _E&—HERRLE E 0.00

X0811060101 U I R 1.13 80*13*5cm

X0811070101 EEFAEETKEBFIPE110 0 1.13 110




X0808050101 RI7KEBARIR AR S % 0.00 30mm*50m
X0808040101 MK REEBHERT 5 0.00 50mm*50m
X0809020101 B tReb R FENN ) 1.13 124
X0811010101 Rz Z EFNRER R IR 5 2.26 110cm*25m
X0809010101 By tEHREROS 2! 1.13 101
X0811050101 LS (RP % R 5.66 1.2m
X0811070201 EETIRE K EERPEE50 AN 11.32 50
X0811020101 | JNE48053PVCE &5ttt 5 11.32 10
X0810050101 I % 452 65*1007;;5’5 100
X0811080101 EETRBEARRIFE 0 113.19 867!




